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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� VHMDXKPDQD� �� 3HQJDUXK�
NRPSHWHQVL�� SURIHVLRQDOLVPH�� GDQ� SHQJDODPDQ� NHUMD� WHUKDGDS� NXDOLWDV� DXGLW�
LQWHUQDO�SDGD�SHUXVDKDDQ�VZDVWD�GDQ�%801�GL�.RWD�3DGDQJ��

3RSXODVL�SDGD�SHQHOLWLDQ�LQL�DGDODK�3HUXVDKDDQ�6ZDVWD�GDQ�%801�GL�NRWD�
3DGDQJ�\DQJ�PHPLOLNL�EHEHUDSD�DXGLWRU�LQWHUQDO�GLSHUXVDKDDQQ\D��6DPSHO�GDODP�
SHQHOLWLDQ�LQL�DGDODK�VHOXUXK�DXGLWRU�LQWHUQDO�GL�3HUXVDKDDQ�6ZDVWD�GDQ�%801�GL�
NRWD�3DGDQJ��6XPEHU�GDWD�DGDODK�GDWD�SULPHU��7HNQLN�SHQJXPSXODQ�GDWD�GHQJDQ�
NXHVLRQHU��7HNQLN�DQDOLVLV�GDWD�DGDODK� UHJUHVL� OLQLHDU�EHUJDQGD� 8QWXN�SHQHOLWLDQ�
VHODQMXWQ\D� \DQJ� MXJD�PHQJDQDOLVD� WHQWDQJ�NXDOLWDV� DXGLW� LQWHUQDO� LQL�� VHEDLNQ\D�
GDSDW�PHQJHPEDQJNDQ� YDULDEHO� LQGHSHQGHQ� \DQJ� DGD�� 9DULDEHO� � YDULDEHO� \DQJ�
VHEDLNQ\D� GLNHPEDQJNDQ� GDQ� GDSDW� GLWHOLWL� SDGD� SHQHOLWLDQ� VHODQMXWQ\D� DGDODK�
VHSHUWL�LQGHSHQGHQVL��PRWLYDVL��HWLND�DXGLWRU��DNXQWDELOLWDV�DXGLWRU��GDQ�VHEDJDLQ\D�

+DVLO�SHQHOLWLDQ�PHQXQMXNDQ�EDKZD��� ����.RPSHWHQVL� WLGDN� �EHUSHQJDUXK�
VLJQLILNDQ� WHUKDGDS�NXDOLWDV�DXGLW� LQWHUQDO��GLPDQD�QLODL� WKLWXQJ� �������������� WWDEHO�
SDGD� VLJ� ������ !� ߙ ����� \DQJ� EHUDUWL� +�� GLWRODN�� ���� 3URIHVLRQDOLVPH� WLGDN�
EHUSHQJDUXK�VLJQLILNDQ�WHUKDGDS�NXDOLWDV�DXGLW�LQWHUQDO��GLPDQD�QLODL�WKLWXQJ���������
�������WWDEHO� SDGD�VLJ�������!ߙ� �����\DQJ�EHUDUWL�+��GLWRODN��GDQ�����3HQJDODPDQ�
.HUMD�EHUSHQJDUXK�VLJQLILNDQ�SRVLWLI�WHUKDGDS�NXDOLWDV�DXGLW�LQWHUQDO��GLPDQD�WKLWXQJ
������!�������WWDEHO SDGD�VLJ��������ߙ� �����\DQJ�EHUDUWL�+��GLWHULPD�

.DWD� .XQFL�� .XDOLWDV� $XGLW� ,QWHUQDO�� .RPSHWHQVL�� 3URIHVLRQDOLVPH�� GDQ�
3HQJDODPDQ�.HUMD


